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30100 VT A 80 6, 156 86 76 76| BN 804
Y3002 =4 (&) hi 13,133 972 972 270 | BN 17kg
31100 H3E 50 3, 672 864 864 540 | &1 5
31200 |LH3E 5 583 29 29 22| BN 275
31900 fX 19 6, 026 540 216 119 B 19kg |
36800 Ho X 1) 30 10, 498 432 378 162 BH 30kg
Y3041 #L 5o 1 9 3 34 108 108 108 B 3kg t:
34400 k= | 16 5,184 324 324 324 | BN l6kg |
34100 A/ 12 1,685 28 28 28 | B 60A
34200 FIL 135 28, 475 270 173 162 | B 135kg
34270 [AvF—= 8 1,296 0 47 32 BA 404
36200 HEHE 20 4,104 216 216 194 B 20kg
36600 7~Fiax 80 9, 288 119 119 108 | & 80kg
34780 BEEE D L5 L 200 81,913 135 130 92 BEAN 6684
¥3017 &R 2| 2,862 1,458| 1,458 1,404 BPY 2kg
Y3018 | 7 H3 89 10, 692 140 119 65 BM 893k
34800 3B< b 6 6, 653 119 119 119 | B 56k » K
46108 X 2MEONE 10 7, 960 324 324 162 | B 3408y 7
71011 | R AL —% 36, 234 54 16 12| &R 1, 7204
71032 K5+ () 702 70 70 NER 104
71150 Ui 1,674 59 54 54 BN 305
71186 =V 2, 673 54 32 32 BA 654
21273 HoFavo 994 32 22 12| B 50
Y5010 DbAE (&) 5 2, 543 594 432 432 | BN Skg
30100 7SI A 50 3,024 | 65 65 54 IR B 504
30300 A% 80 12,841 1,728 1,728 1,436 BE 84— 2
30400 ZIF 5 10 1, 782 54 54 54 | FE# 334%
33500 5 ¥ 1 130 11 11 11 |15 1248
33810 IR 8 2,160 | 54 54 4 EEIRE 4088 |
31700 F XY 190 13,716 1,188 864 108 | 194 — X
31800 FHHAE 12 5, 400 119 86 65 B IS 6043
31950 HAX 9 2, 268 756 756 756 | F1[E 34— R
31950 HaaX 9 2,592 864 864 864 | FEI 5 34—
32800 1T5H S 10 2,592 | 54 22 22 |'E 1007
34300 |72 30 7,776 1,296 1,296 1,296 fEA 64— R
34400 | k= k 12 3,564| 1,404 1,080 1,080 |fEAK 37—
34400 k= k 12 3,564| 1,188] 1,188 1,188 RS 34— |
34400 k= h 12 5,184| 1,728 1,728 1,728 |BEA 347 —%
34460 I =L F L 10 4,925 108 97 97 EIRE 48,83y 7
34100 HAL 75 15,012 1,080 972 972 ['E i 1524 —
(34100 K 15 453 1,512] 1,512 1,512 BREB  3/—x
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34100 #/K t 30 3,132 540 540 186 BEIRE  64%
34200 FHN | 60 6,804| 1,404| 1,080  1,080|==2—— 65 —2
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34500 E—=< M 6 2, 268 38 | 38 3B ERE 604
34520 FbE—< A 12 1,188 1,188 1,188 1,188 | IR 1r—2=
Y3027 L v REERE - 702] 140 140 140|==2—o— 5% v |
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37200 L x A 9L 12 4,320  1,620] 1,620 1,296 34—
33400 L& X 6 907 76 76 76 | K4y 1218
38100 £ L1t 7 5, 249 81 76 OEG 685y 7
31310 L33 8 1,296 32 32 32 f& 404
31500 /IMAZE ’ 4 1,512 1,512 1,512 1,512 |R5 14—
31500 /MAZE 12 3,672 76 54 54| IR B 6045
32500 Ao 1 324 54 52 32 | fE M 107K
34800 |5< & 2| 1,296 54 54 54|44 24% v k
37560 BT 1 2, 538 324 216 216 | K%y 1075 7
36400 |2 2L | 10 7,020]  7,020] 7,020 7,020 H& 14 —=
38400 ZDEE ) 5 1,296  1,296] 1,296 1,296 EiF 14—
42320 (Vg FI—nA K 10 5,616 5,616 5616 5 616 B 14— 2R
46108 ZMFODEE 21 5,530 | 119 65 65 LS 69,5 7
Y4047 HEH L 5 810| 54 54 54| &I 1575 7
49100 ASFF 1 60 10,260 2,484 2,160 1,728| 74 U Er 54 —R
Y5006 FEIR (B4 110 34, 636 3,380 3, 380 2,948 | BEIR B 117 —2
Y5006 850 (B4h) ) 56 15, 530 198 198 184 IR S 80,8y 7
aat 1,765 452, 296
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